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Diff03 Answers for No.9395
d=(f(x)=273x-2)% .2=(f’(x)=5(2x3+2x+9)4(6x2+2))
1 8 x°
-3=(f(x)=—,—] 4=|f(x)=-
2x-17 (2}&-—5)2J
Ansl = 5(12x°-3) 4
S=f(x)=- . b= () ="4357,
(4 =3x-3) (7—-8x)
X ) ( 84(5x+3)3]
T=(f(x)=20(5x+3) (2x-3)+2(5x+3)") S=f(x)=-—""7"
i (2x-3) ]
[ [ae 16r ] | M
A= Zzﬁ a
[ =[F(k)=24] A =1F (k) =504 dP(2+3t ] }tz
== - - 90 — I
Ans2 [2=[F’(k):-24]}’ Ans3 .2=[F'(k):7} , Ansd ‘[dx‘ﬁ} @
M
:{M,%ss} U
i 121 I |7
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Diff03 Answers for No.9419
I=(f(x)=42(7x-5)) .2=(f’(x)=5(3x4—5x+5)4(12x3—5))
3_(“ )__;] 4| )__Lf
3= xX)= 5 (—5—3x 4= xX)= (3x7_5)2
Ansl = 3(6x7+2) 7
S=|f(x)=- 2 6=|1(x)= (3/2)
2x+2x+7) 2(2-7x)
) X ( 208(6x+5)3]
T=(f(x)=62x=T7Y+8(6x+5)(2x-7)) 8= f(x)=- ;
i (2x-17) ]
— —_ _M—
dx 56t a
1=[F(k)=710] '12[52(4 2>2] t
[ =[F(k)=-12] e B B 1 h
AnS2_[.2:[F'(k):20]}’ Ans3 = .2:{1:'(1():@}’ Ansd = Z{d_f’zi} ol @
18 dr fx M
| 3=[474/2,37421) | U
LT
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Diff03 Answers for No.9428
d=(f(x)=273x+2)%

3
’Sz(ﬂx)246x—7]

5(6x°+2) J

6
(2xX +2x+3)

Ansl =

5_[ﬂx)_—

T=(f(x)=5B3x-8)+9(5x+7)(3x—-8))

I = [F(k)=36] A =[F'(k)=-63]
AnSZ:[ 2= [F(k)=8] :l, Ans3 =
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63 =
.2:[1?’(/():?} , Ansd 2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXXXXXXXKX XXX LXK XKLL XKL LKL KKK LKL X XKL KK XKL KKK K KKKKKKKKKXME6/1-6600507-00003XX

.2=amn=7(2f+2x+9f(6f+2»_
[ 9 x? ]
A4=|f(x)=- 5

(3x° +4)

2
6= f(x)=-————
[ i (4x—7f””J

) (f() ‘m3(5x+7f)
= xX)=—
(3x-8) i
I { v 244 I M
I=|—= 5 a
E ¢
_{d_P_i} h
e W] [ @
M
.3:[21&5,1155} U
i 3 17
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Diff03 Answers for No.9459
1 =(f(x)=40(8x+3)"

'3:(ﬂx):_248i3xJ

6(4x+2) J
(2xz+2x+7)7

Ansl = [
S=|f(x)=-

7=(f(x)=40(8x-5) " (5x=7)+5(8x-5))

_[1=[F(k)=6] _
‘““2‘[2:[F(k)=24j"””3_[.2=[ka)=14]

.]:[FTk):456q

.2=u(m=7(2f+2x+5f(8f+2n_

[ 28 x°
4=[f(x)=——""
(4x =5)
3
.6:[Hx): (Mn]
2(4-3x)
8_@()__1%(8x—$4
CTUYTT (sxo7y
i dx 16 ¢
et
d4i

Ans4 = :[d_P i} L)

' dx ﬁ
.3=|:M, 0.081j|
289

NQEX® >~ X
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Diff03 Answers for No.9476
I=(f(x)=30(5x+3)") .2=(f’(x):7(3x3+7x+7)6(9x2+7))
1 16 x°
.3:(1’@):—] A=|f(x)=———
V2x-5 [ (4x4—7)2]
Ansl = 7(12x°-5) 5
S=|f(x)=- - 6=|f(x)= e
(4 =5x-5) 2(4-5x)
) X ( 81(4x+3)2]
T=(f(x)=12(4x+3) (5x-3)+5(4x+3)) S=[f(x)=-—"""71"
L (5x-3) i
i dx 70 ¢ M
A= Zzﬁ a
1 =[F(k)=-30] A =1F(k) =430 dP(5+4t) }tz
Ans2=[2:[F.(k):_12]:|, Ans3 = .2=[F'(k)=12_7} , Ans4d = :[;:ﬁ} | @
M
U
T

3= {M 0.403}

1681
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Diff03 Answers for No.9491
d=(f(x)=243x+4))

5
3= f(x)=—FT"—
((X) 2'\/5x—6)

3(6x°+2) J

4
(2xX +2x+3)

Ansl =

5= [f(x) =

T=(f(x)=83x+2)+15(8x+7)(3x+2)"

X [Page = 0006]

.2=(f’(x)=6(2x4—5x—5)5(8x3—5))_
[ 15 % ]
4= f()c)z——2
(5x°=7)
3
.6:[f’(x): WJ
2(4-3x)
8_(“ )__25(8x+7)4]
U7 Gty |

' X
3 :[%, 0.331}

I = [F(k)=20] A=[F(k)=312]
Ansz:[2:[F'(k):36]}’ Ans3 = ‘2:{1:,(]{):42_058}, Ans4 = = -

.
a

t

{d_P L} h
dx @
[ M

U

T
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Diff03 Answers for No.9633
d=(f(x)=56(7x+2)) .2=(f’(x)=6(3x3+4x+4)5(9x2+4))
3 6x°
I=|f(x)=—"FT— 4= f(x)=—————
( ) 2«/7—3)) [ ) (2x3—5)2J
Ansl = 4(6x°+2) 7
S=|f(x)=- : 6=|f(x)= e
(2xX +2x+3) 2(8-7x)
. ) [ 190(7x+6)4J
T=(f(x)=7(3x+8)Y+15(7x+6)(3x+8)) 8=|f(x)= p
i (3x+8) ]
I o 30: |1 | M
A= Zzﬁ a
[ =[F(k)=-64] 1 =1F(k)=200] dP(SJrzt) }tz
Ans2=[2:[p(k):_96]}, Ans3 = .2=[F'(k):2§5} , Ansé= :[;‘_x} e %
.3:[M, 0.661} U
i 49 I
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Diff03 Answers for No.9711
~ X _
2=(f(x)=4(2x*"=5x+5) (8x =5))

I=(f(x)=202x+7)")
3—(f( )——;J 4= |1 )__Lf
RGP P A (55 —8)
Ansl = 6(=7+8x) 4
.5=[f(x)=— 7} .6=(f(x)=— (3/2)
(4x*=Tx+7) (8x-3)
3 ) { 196(8x—3)3J
7=(f(x)=32(8x-3)" (5x-8)+5(8x-3)") = f(x)=- 5
] (5x-8) ]
I dx 4t | M
A= E:—z ) a
[=[F(k)=-20] A =1F(k)=348] dP(l +4t ] itz
A”S2:[2=[F'(k)=-20]}’ Ans3 = -2=[F'(k)=ﬂ A= :[E:W} @
M
.3:[@,0.161} U
i 289 7
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Diff03 Answers for No.9784
d=(f(x)=44 (4x-5)") .2=(f’(x):7(2x2+2x+11)6(4x+2))
5 9 x*
3=|f(x)=—F— A=|f(x)=———
((X) 2'\/5x—2] (x) (3x3_5)2J
Ansl = 7(6x°+2) 1
S=|f(x)=- - b= () =——"75
(2xX +2x+3) (2x-17)
3 . ( 68 (7x+2)
T=(f(x)=28(7x+2)Y (2x+3)+2(7x+2)") S=f(x)=—""""7"
i (2x+3) ]
i dx 241 M
A= Ezﬁ a
[ =[F(k)=-24] A =[F (k) =1040] dP(4+3t) }tz
A 2=[‘ S } Ans3 = 63 |, Anse= {—:—} .
WEE 2= [Pk =841 O .2:[1:(/():?} - d oy %
U
T

ErC
841 o
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Diff03 Answers for No.10143
d=(f(x)=18(3x+7)) .2=(f’(x)=7(3x2—8x+8)6(6x—8))
3 0x*
-3=(f(x)=—J 4=|f(x)=-
VOx—7 (2x5+3)2]
Ansl = 5(8x°+2)
S=f(x)=- . 6= f(x)=- (3/2)
(2x4+2x+5) 2(5x-3)
) X [ 39(2x—3)2J
T=(f(x)=6(2x=3)(Tx-4)+7(2x-3)) S=f(x)=—"""7"
i (Tx—4) ]
o 200 |1 | M
52 [
1 =[F(k)=50] = 1F(h) =9%6] dP(2 +1t ) ltz
—| 1= - . 231 - I .
Ans2 [2:[1:'(/():-12]}’ Ans3 .2:[1:'(/():?}’ Ansd ‘[dx‘ﬁ} @
M
.3:{M,0.245} U
i 121 I |7
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X

Diff03 Answers for No.10626
I=(f(x)=50(5x+7)) .2=(f(x)=6(3x4—8x+8)5(12x3—8))
3 (f() ’ j 4= f(x) 322
3= X)=—" — 4= X)=—"" 5
247x—4 (8x4—7)2
Ansl = 5(6x+2) 3
.5=(f(x)=— 6} .6:(f(x): (3/2)J
(3x*+2x-2) 2(2-3x)
\ X ( 48(—7+8x)3J
T=(f(x)=8(4x—-5) " +16(-7+8x)(4x-5)) 8= f(x)=- :
i (4x-5)
I 60 |1 | M
A= Ezﬁ a
[ =[F(k)=28] A =1F(h) =130] dP(S +1t : ltz
Ansz:[2:[F'(k):16]}’ Ans3 = .2:{1:'(1{):%)}’ Ansd = ZZ{EZK} @
142 e
.3:[10—, 0.255} U
i 147 | 7]
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Diff03 Answers for No.11002
d=(f(x)=22(2x-5)") .2=(f(x)=7(2x4+2x+11)6(8x3+2))
5 9 x*
-3=(f(x)=——] A=|f(x)=——"
2V6-5x (3x3+4)2J
Ansl = 5(8x°+2) 5
S=|f(x)=- p b= f(x)=- (3/2)
2x'+2x+3) 2(5x-28)
. , ( 57(2x+7)2]
T=(f(x)=2(5x+8) +15(2x+7)(5x+8)") S=[f(x)=-"""""7"
L (5x+8) i
dx 56¢ | M
la e ]
1 =[F(k)=48] A =F(k)=250] dP(7+2t ] ltz
—| = = - 155 - | _ =
Ans2 [.ZZ[F'(k):8]}’ Ans3 .2=[F'(k)=3_2}’ Ans4 '2_|:dx_ﬁ} , A@}[
3= [—, 0.875} U
i i
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.2=(f’(x)=6(2x3+2x+9)5(6x2+2))_
42 5° ]

(7x6—8)2

Diff03 Answers for No.11188
d=(f(x)=54(6x-7)%)

7
3= f(x)=—FT"—
((X) 2'\/7x—5)

.4—[f(x) =—
5(12x°-8) 3
J .6:[f’(x): W”J

2(8-3x)
117(5x—2)2J
(7x+5) ]

Ansl =
S=|f(x)=- -
(3x"—8x+8)

T=(f(x)=5(Tx+5)+21(5x=2)(7x+5)") .8:[f(x):
i dx 84 ¢

1{7—}
R = 28] 1 =[F(k)=1204] dP(7+3’)

Ans?2 [‘ZZ[F,(k):_mJ, Ans3 '2:{F,(k): 9 } , Ans4 Z{dx_ﬁ}

3= [M, 0.933}
529
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Diff03 Answers for No.11505
d=(f(x)=15(-4+3x)" .2=(f’(x)=4(2x4+2x+5)3(8x3+2))
5 5x°
-3=(f(x)=—J 4=|f(x)=——"—
2y5x-8 (5x3+8)2J
Ansl = 7(8x°+2)
S=|f(x)=- : 6=|F(x)=~ (3/2)
2x"+2x+3) 2(5x-7)
. ) ( 45(5x+6)4]
T=(f(x)=5(4x+3)Y+20(5x+6)(4x+3)") 8= f(x)=-—""—
i (4x+3) ]
w0 |1 M
i e K
[ =[F(k)=56] A =F(k) = 228] dP(3 +4t ] ltz
AnSZ:[Z:[F'(k):-4OJ’ Ans3 = .2=[F’(k)=_}’ Ans4 = ,2:[;:$} >l @
M
.3={M,0.169} U
i 169 I | 7]
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Diff03 Answers for No.12113
- ] _
2=(f(x)=7Q2x"+2x+11) (8x°+2))

15" J
A=[f(x)=-—"
(3x° +5)

A=(f(x)=77(Tx-4)"")

3
B=[f(x)=—FT—
((X) 2«/—4+3x]

Ansl = 3(8x°+2) 4
S=|f(x)=- 1 b=|1f(x)=- (3/2)
(2x' +2x+5) (8x-3)

2 , [ 213 (8x—5)
T=(P(x)=24(8x—-5) (3x+7)+3(8x—5)) 8=|f(x)= ;
L (3x+7) i
.
_1_[_x_ 641 || a
1 =[F(k)=924] LA gy !
[1=[F(k)=-16] B B h
AnS2_[.2:[F'(k):24]}’ Ans3 = .2:{1:'(1():&}’ Ansd = Zz{d_P:L} ol @
16 : dx J; M
3=[1,1.000] U
LT
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Diff03 Answers for No.12541
I=(f(x)=24(4x+3)) .2=(f’(x):7(3x3—2x—2)6(9x2—2))
; (f( : 5 ) =l o) 40 x*
I = X)=—" — 4= X)=—" 5
242-5x (8x°—3)
Ansl = 6(8x +2)
S=|f(x)=- ; 6=|f(x)=- e
(2x4+2x+5) 2(7x-4)
X ) ( 111(8x—3)2J
T=(f(x)=8(7Tx+2) +21(8x-3)(7x+2)) 8=|1f(x)= y
I (Tx+2) ]
I dc 361 M
A= ;=ﬁ a
1=[F(k)=6] 1= [F(k) = 880] dP(6+1t ) }tz
=| 7 - - 800 - I
Ans2 [2:[F'(k):-30]}’ Ans3 .2=[F'(k):5}’ Ansd ‘[dx‘ﬁ} |l @
M
.3:[M, 0.051} U
i 3025 I |7

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢

X [Page = 0016]




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XKL XKL KKK XKLL XKL XKL LKL KKK LXK LXK KKK KKK K KKKKKKKKKME6/1-6600507-00017XX

Diff03 Answers for No.12590

X [Page = 0017]

.2=(f’(x)=6(2x3+2x+7)5(6x2+2))_

I=(f(x)=35(5x+2)")
S(f‘() 1 ] 4[f() 52 J
3= X)=—""— 4= X)=-—
V3 - 2x (5:°+8)
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J .6:(f‘(x)= W”J
2(2-5x)

Ansl =
S=|f(x)=- y
(3x +4x—4)

192(3x—8)2]

T=(f(x)=9(3x-8)Y(5x+8)+5(3x-238)) .8:(1‘@): p
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= X)= zm 4= X)= ( 4 5)2
Ansl = 7(8x°=5) 1
=|f(x)=- : fx)=—"53
(2x4—5x—5) (3-2x)
) . ( 68(8x+7)3]
T=(F(x)=8(Tx+4) +28(8x+7)(Tx+4)) S=|f(x)=-—""""7
i (Tx+4)
i [d 8 1 ]_ M
I=| =" a
L R 42, 1 =[F'(k)=580] (1”) 2
AnS2:[.2:[F'(k):36]}’ Ans3— [F(k)_540}’ Ans4 = } ol @
49 y
.3:[ 0045} U
i 125 I 7]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



| XXXXKXKXKKKKKKKXKXKXKXKXKXKXKXKXXXXXXXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK
L >



